00
= . @&6
R
KQ
©
(o
R
: )
)
"
<
ALLIANCE HIGH SCHQOL
HISTORY AND GQ\ﬁ:ﬁtNMENT
é\
O
PAPER TWQ 31172
e\
TRIALSZDI13
X
9 o}
TIRFE 2HRS 30 MINUTES
QJ*‘ SECTION & (25 MARKS)
2
<& . .
< Answer all the questions from this section in the answer booklet provided.
¥
QO& I What does “social Ilistory mean™ - Imk
2. Identify two secondary sources of information on History and Government 2mks.
3. State one reason why man abandoned slone tools tmk.
4. State two limitations of silent Trade 2mks
5. Name one invention that revolutionized food preservation during the 19" € Imk
6. Identily two factors that necessitated exchange of trade items between the
early communities Imks

7. What is the difference between the seramble and partition of Africa in the 19™ €2 I Mk

§ .Give the main reason why European powers used companies to administer their colonies 1mk

9. Give one reason why there was a military stalemate on the Western Front during the 1™ World

WL, Imk
1. State two ways in which centralization of authority contributed to the success of Buganda

Kingdom 2mks

L. Giive two advantages of print media 2raks
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12. What does the term “detente’ m\&@%‘as used during the cold war? tmk
- - " \' ' .
13. How did the policy of “rra\tfo)\nalization” stow down economic'development in Tanganvika
3 ' :
during the reign of Prcsit{aqat Julius Nyerere? Imk
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[4. State twgegovernment policies which have contributed to industrialization in India ~ 2inks.

&

15: W%@j was the immediate causc ol Britain’s entry into the second world — war?
<<\

|8 Name two military pact formed by the capitalist and communist after the Second World

QO& Wa}.‘ 2 mks

17. Mention one weapon used during cold war
SECTION B (45MKS)

Answer any three questions from this section

(8. a) Give three advantages of land enclosure system in Europe (3mks)
b) Discuss six effects of Agrarian Revolution in America. 2mks
19 a). State five terms of the Berlin conference of Nov to Feb 1885 Smks
b) Why was the war between Samori Toure and the French protracted? 10mks.
20. (a) State five limitations of using messengers as a way of communication. 5 mks
(b} Explain five negative results of using telecommunication devices. 10mks
Smks

21. (a) State five negative effects ol industries on the environment.

(b)Discuss live factors which have slowed industrialization in third world countries 1 Omks
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SECTION C (30 marks)
Answer any tw%vq\ﬂestions from this section
R\
22, (a)gqf% three conditions which one had to fulfill in order to become a French citizen in
Sencga&,‘?& 3mks
X
‘3'9
C?Q/ {b)Explam six differences between the use of British indirect rule and French
o Assimilation Policy. | [2mks
<
& 23 (a) State five advantages of Federal Svstem of government in U. S. A Smks
< . . " 2 !
Qo\ (b) What are the functions of federal government in U. S.?7 A 10miks
24, (a) Highlight five social developments in post — independent Tanzania. Smks

(b) Explain the political challenges that have faced Post independent Democratic
P 8 I

Republic of Congo 10mks



